GENERAL MATHEMATICS GROUP-| (o) Fd7

TIME ALLOWED: 20 Minutes OBJECTIVE u"ii,ﬁ o220 = <
MAXIMUM MARKS: 15 15= 4F
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Note: You have four choices for each objective type question as A, B, C and D. The choice -(./= Sl vy
which you think is correct, fill that bubble in front of that questlon number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ALy

(1) AMbetween 6./5 and 25 is- b 25 seds (1)
(A) 375 (B) 95 ) 75 (D) 445

(2) (4NB)" =? (4nB) =2 (2
(A) A" NB° (B) (4UB)" (C) 4“UB" (D) ¢

(3) For y=21in 2x—y=6 then x=? sl e S =2 S x-y=6 (3
(A) —4 (B) 4 (C) 2 (D) -

(4) The middle value of the data arranged in numerical order is called:- -‘ajlk{;gdw&];ﬁﬂr‘.;ﬁo/ (4)
(A) Mode s (B) Mean L (C) Geometric Mean ks~ (D) Median -5

(5) 20 % of 600 is:- < 20% §600  (5)
(A) 12 (B) 120 (C) 20 (D) 200

(6) Lowest form of 75: 95 is:- e Fgi§ 75:95 ()
(A) 15:17 (B) 17:15 (C)19:15 (D) 15 : 19 |

(7) Zakat deducted on an amount of Rs.1,00,000 is:- _9JP’J Fﬁ{e.u 1,00,000 (7)
(A) Rs.2500 (B) Rs.25000 (C) Rs.2000 (D) Rs.15000

(8) On a crop produced on Natural resources, Ushr is deducted at the rate of - -<{ }J/",;ff Sebeluds (8
(A) 2.5% (B) 5% (C) 10% (D) 20 %

(9) Loss is there when:- -:}’i;;_ww’ 9)
(A) SP = CP (B)SP < CP (A) e3sped = picd  (B)edjed <sicd
(C) S.P>CP (D)SP= MP (C)erjed > yiud (D) e3fed = 2ituge

(10) An instrument for payment order issued by abank -7 ji.;ﬁ my’d.:hg{.:/l:‘»J.‘f VLo MUASL  (10)
on the request of its customer is called:-
(A) Pay order 5,7 (B) Cheque Book L& (C)Deposit siip J’W.-U/ & [’ (D) Current account 5§12/

(11) The company undertakmg act of Insurance is called:- _a.dtlf (c..dbwfﬁiﬂ’fz:u’ﬁli;fr (11)
(A) Insurance J.r/i (B) Insured = (C) Insurer ud (D) Insurance policy | -LJffr‘i

(12) Taxes of the form of duties like motor vehicle taxes, are called:- ( -J'J!u ui’fJ/ L){’:/r‘ (12)
(A) Indirect tax f ~b-1¥, (B) Direct tax ”'l':u/baff (C) Property tax (/»k (D) Income tax UH/

(13) The tax in addition to the price of the article is called - i qu’g Julu" = d/ /"Lf (13)
(A) Tax J" (B) Sales tax Jg K C) Income tax Jp lf D) Excise duty dgul,_fi

(14) In 4%, 4is called:- g 48 (19
(A) Base (B) Exponent Ve s (C) An integer mg (D) Radical ..«

(15) Thirdtermofa = n + 3 is- e f$AS a,=n+3  (15)
(A) 3 (B) 9 (C) 6 (D)0
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GENERAL MATHEMATICS GROUP- bt - or Sl?

TIME ALLOWED: 2.10 Hours SUBJECTIVE .¥Le Fa10 = &
MAXIMUM MARKS: 60 60 = AF

NOTE: - Write same question number <L 94.}&.&5 @JJ/:};'z;;i,:}szLﬁgQ e o
and its part number on answer book, as given in the 'questjon paper.
SECTION- .2
2. Attempt any six parts. 12=2x6 Zf//‘..,tl:’iiﬂic.df 24y
()  Express 1.26 as percentage. é fﬂw‘f w3 1.26 (i)
(iy If % of the students in a school have been away ?é'-{:ﬁqbgdzfﬁ;{)ﬁ{d; - KJJJJF.{ i (ii)

for a holiday. How many students in every hundred were on holiday?

(ii)  Define Ratio. e i
(v)  Define Nisab of Zakat. _ Al ()
(v)  Calculate the amount of Zakat on an amount of Rs.500,000. iérsl”ii’?{f;lg.u 500,009 (v)
(vi)  Define Proft. _ EE i
(i) A Bicycle was purchased for Rs.3450 -t Wente w 3850 s lx ke 3450 FELLT (v

and sold for Rs.3850. Find profit percentage. _
(vili)  Abook is sold for Rs.650 at a profit of 30 %. -_ép%i’:é&,,i:f -63;@‘;:&;» 650 /Obwe 30 LU (vil)

Find cost price.
(ix)  Define On-line Banking. Sy’ (i
3. Attempt any six parts. 12=2x6 i_(//’...«tlfliﬂp’:_d/ 34y
()  ConvertRs.5,00,000 into Euro L3 112.4088 = syf] /i éJW:yf/a.uM 1500000 ()
if 1 Euro = Rs.112.4088
(i) Define Excise Duty. & J/J Sl i
(i)  Acomputer price is fe i N (ed B JVJC 16 % L ~¢-¢-11 34800 JJ/:/JI (i)
Rs.34800 inclusive of 16 % sales tax. What is the original price of the computer?
(iv)  Write 50,00,000 in scientific notation. cfguf K ia l.zf 50,00,000  (iv)
(v) If logx =0.1597 thenfind x -“ép“’u; x jn logx = 0.1597 /| (v)
(vi)  Solve, log243 log243 S f (i)
log9 log9
(vi)  Define Infinite Sequence. Efeed i)
(vii) Find first two terms of @, = 2’;:]5 -&E,,&J a, = 2’;:; (vii)
(¥)  Find GM between 9 and 5. Sl sl 549 (¥
4. Attempt any six parts. 12=2x6 iz /‘..,uiiiﬂic.df Ay
()  Define Universal Set. S /J..xdw (i)
(i)  Define Complement of Set. ,U:Lgiﬂf siahlLor (i)
(&1 dn)



(v)
(v)
(vi)
(vii)
(vili)
(ix)

C={3457} tenfind BUC

Using formula convert 20°C into°F. ALk OF f 2000 nZ JJeu
Represent the point D (4, 4) on graph paper. .q&w{gdiﬁ D(4,4) &
What is Ordered Pairs? LAl sy
Define Mode. T8
Define Geometric Mean. Sl

Find the Mode for the given data6, 2, 4, 3, 4, 5,45, P 6,2 4,3, 4,5 4, 5 iy
SECTION-II ».2

(v)
(v)
(vi)
(vii)
(vii)

(ix)

NOTE: - Attempt any three questions.  24=8x3 &, felizl bl o7

5.(A)

9.(A)
(B)

Six men can paint a house in ?Zq/..é)}}:f!.a/‘d“fu?w’tgijd;fd)ﬁl -Q?éfuﬁﬂuﬁugﬁuﬁdﬁ 6
four days. How long it would take to paint the house if three men are employeg?

1304 5000 4 (S5 i1 40,000 23Sy b oW fiS 85 sute i 40 a3 10
Calculate the amount of Zakat on 10 tola gold and 40 tola silver, if the rate of gold is Rs.40000 per tola
and the rate of silver is Rs.5000 per tola.

Distribute Rs. 200,000 as a profi 3:2:5 <ARUPLINE SO 200000 L
among three persons. If their shares are in the ratio 3; 2 : 5.

S Py B e 7 LBLLEeI Lol 5% L5000 LS
Waseem invest Rs.5000 at compound profit rate g % per annum.
Find the amount at the end of third year.

EEK S50 it 16% 1SS 4 3500 AL

The price of a bicycle is Rs.3500. If 16 % sales tax is charged, then calculate the amount of
sales tax on 50 such bicycles.
Solve with the help of logarithr table. e Sl ,»L(“’ﬁ
If three A.Ms between -é()l‘”d J b » a ?uﬂzjdi'cf: 134 945 UL/‘JJL b sa )lﬁluﬁ
a and b ared 9and13thenfind a and & .

B={2,3,579} o U={y2 34—~y 13 }o &= {2,3,4,6.7,8,9,10 } /

(4UB)® = 4°NBC [y fupd

f4=1{2,3,4678910}, U={1,234----12}and B={2,3579}
then prove that (AU B)® = 4N B€
Draw the graphof »y =x—1 -é‘if..iif? yi=xi=l
Find the standard deviation for the values -.érPJV}dxp‘{_L 1,2, 3 4,6 8 11 sy
1,2, 3 4,6, 8 11.

R)TH O =1~1 8
33-2018(A)-10000 (MULTAN)
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Note: You have four choices for each objective type question as A, B, C and D. The choice ..u'/ d"):é....,ufr
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 . A Ay
(1) On a crop produced with artificial resources Ushr is deducted -QG?KL}J/“{.J” L?&:}G’c_ébigfr"’ (1)
at the rate of- (A)5 % (B) 10 % (C)25% (D) 25 %
(2) CP=? ¢ zxied (2
e (B) Loss - SP w 10X et gy sed - 3
(100 + profit percentage) (100 +  #248)
(C) MP + Discount D) tadioonn. (C) .-;Eb»{.*.o r e (D) ———— 100x 24
MP Jz,»/..»
(3) The periodic instalments to be paid by the insured is called:- -wé@u-d ;f bic..,.n’ub:'.._.’)’&:r" (3)
(A) Bonus u‘? : (B) Discount #4585  (C) Premium (’/ (D) Mark up IS
(4) Amachine installed by the bank to dispense cash to customer -.::.dllf sc.d/ LY (;M.f' oo @
is called:-  (A) Computer /;J B) Scanner /C C)ATM ( | d._¢..i (D}Card reader sis58
(5) The tax charged on all the taxabte income is called:- .LW :atbLﬁxJﬂJgJurwﬂ; (5)
(A) Sales tax u‘@’ (B) Direct tax u’g ~=Inlz  (C) Income tax J’: H/ D) Excise duty dh/bf
(6) The tax in additon to the price of an article is called:- _Jqf)‘lfc dufu” ...u’d/ /J( (6)
(A) Tax U,C (B) Sales tax Jg b (C) Income tax Jgﬁ (D) Excise duty dbxtf |
(7) In 3 , 3iscalled:- wE s B
(A) Radical i (B) Radicand x4 (C) Integer mé‘ (D) Natural number w@;}i
(8) ___is agin3, 7, 11 e wa § 37 Mo (§)
(A) 3 (B) 19 (C) 23 (D) 20
(9) GMin 1 and 8 is:- el 841 (9)
A) 242 (B) £2V2 (© -2v2 (D)2
(10) f4={4}and U={1,2,3,4 }then 4 =2 A =2hU= {1234}”'/1 {4} S (10
A {1,2,3 } (8) ¢ © {1} D) {1.2,3,4 }
(11) By putting x =1in 2x + y =6 then y =7 y:? oy x=1 2x+y=6 (1)
(A) -4 (B) -8 (C)4 (D)8 '
(12) The score which occurs most often in a set of data is called:- ,{_{}M @L/ut}c.h/u":lfgf;;ju (12)
; (A) Mode sk (B) Mean b (C) Median -3 (D) Geometric mean 410/
(13) 55 in terms of percentage is:- -c.uffwvd (13)
(A) 35% (B) 70% (C) 40% (D) 20 %
(14) Inaratio a:b, b is called:- G b L oah el (14)
(A) Extreme (! (B) Antecedent ..»;/..ML?-I (C) Mean /s (D) Consequent ..JJ ¥
(15) Zakatis deducted at the rate of - L UAWES (5)
(A) 25% (B) 3.5% (C) 45% (D)5.5%

MTN-G . T \g3500i WK I0)-2018(A)-17000  (MULTAN)
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SSC PART-1(9™ CLASS)
GENERAL SCIENCE  (GROUP-I) (gmgpr N S U2
TIME ALLOWED: 20 Minutes OBJECTIVE u“ 2 2205
MAXIMUM MARKS: 15 15 A4S
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting o filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 Ay
(1)  Penicillin was discovered in the year: e KL nSngdS (1)
(A) 1828 (B) 1918 (C) 1920 (D) 1928
(2) ______ isused to make microprocessor of computer. et ndeiid Lt 5 2 L ,,1’ 2)
(A) Calcium ¥ (B) Magnesium #¥¢  (C) Lime Stone w##s (D) Silicone w4~
(3) The disease caused by deficiency of insulin is: e ‘46‘- KA J’d’ Jd Y @3)
(A) Diabetes L5 (B) Goiter ¥ (C) Anemia (i ©)TB. 34
(4)  The disease caused by the deficiency of vitamin ‘C” is: e mee rar b s @
(A)Rickets o*,  (B) Night Blindness (% sos (C)Scurvy §F (D)Flu #
(5)  The drink which can be used more in hepatitis is: e Pl it b (5)
(A) Water Jg (B) Juice vz (C) Sugar cane juice v2¢L (D) All these (7
(6) The disease caused by a virus is: e igdhintmdslu i (6)
(A) Aids i (B) Diphtheria | £} (C) Tetanus o~ (D) Cholera 1§
(7) Diazepam and Lorazepam are the examples of: el rt;_;uh;trg..iéﬁ @)
(A) Hallucinogens s2ss (B) Painkillers 7#c#  (C) Narcotics % (D) Sedatives . Jxi~
(8) Ozone forms a protective layer in: :q_rtb’ulq.at'f._im FoLts 0> t‘-.!u-‘-' st (8)
(A) Troposphere <y} (B) Stratosphere 4% % (C)Mesosphere /s (D) Thermosphere v 72
(9) Pakistan’s population in 1998 was: f 19984l )
(A) 130.5 Millions#¥g4 /32 (B) 130 Millions /527 (C) 140 Millions 5./ (D) 150 Millions /0.4
(10) - The disease caused by smiog is: ‘ e Gl ety (10)
(A)Heart §Us (B) Kidneys $us/ (C)Lungs Sus2™ (D) Liver (/#
(11) :r}:; :;li:nnzl;;f science related to mechanics, heat, light IR IR P it 2 an
(A) Chemistry (§ £ (B) Astronomy =%  (C)Physics /7 (D) Mathematics L/
(12) According to the latest measure, the earth’s radius is: :9-/'3'-&4"@11&5'5&}{ bi e (12)
(A)6338km #6338 (B)6353km X¥6353  (C)6553km #¥6s553  (D)5653 km X 5653
(13) One of the hardest substance in universe is: ‘e LlaLtuge e fk¥ (13)
(A) Diamond 1+ - (B) Graphite wss/ (C) Silicon w& (D) Iron |
(14) Density of water at 0 C° is: adnu’* SJLSL/O C° (14)
(A) 0.918 g/cm’ (B) 1.00 g/em® (C) 0.9990 g/cm’ (D) 0.9288 g/em’
(15) Fats are formed by the combination of: et e b LR sl (15)
(A) Glucose + Vitamins #ts+3/¥ (B) Amino Acids + Water Ji+5425U
~ (C) Glycerol + Fatty acid 253+ s /;’ (D) Carbon dioxide + Water Ggﬂ’bﬂéﬁcﬁaf
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GENERAL SCIENCE  (GROUP-ID (-2l
TIME ALLOWED: 20 Minutes OBJECTIVE (3.~ 2220 155
MAXIMUM MARKS: 15 15:4F

LS A h L.«rzulofl:_‘iia"'g:fUv£..._.«!:".'.:./.r.ir_',uiu.t}f:E":?,.Jr':.irr:.Jlrf,.;géb’(,}!ﬁ-g{-’é2,'.:DniCcBcA.:.«}lﬁ.'fzkf.dlr/:-hﬁt;

S Lz Y44 rJ !-(LL.VLJUCE A eSS .:}'d...?l:-fﬂu'; hk‘.,li.’uf iherr i/ f'/ 3 oW 4 SUsomls
‘Notei You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cuiting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.,

Q.No.1 Ry
(1 g;dnﬁgg‘:‘iigon?e the first expert of laws of Reflection e blel o kg9 L punl c}?{, )
(A) Al-Bairuni 3,1 (B) Ibn-ul-Haitham A*i¢u  (C) Bu-Ali Sina tx¥4 (D) Dr. Abdus-Salam #)ix# /B8
) In Geography dif-ferent partsof _ are o ?_Jl? S i /quf!k s Sl e @
marked geographically.
(A) Earth o2 (B) Agriculture =s1.; (C) Sun (D) Medicine 15
(3) ‘The content of Magnesium in plants vary from: Qi) r?? uny (3)
(A)0.21t00.4% (B) 0.1 t0 0.4% (C) 0.01 to 0.4% (D) 0.3 t0 0.4%
*) The proportion of oxygen in air by volume is: :.;.rn(f’ ph G T S (8)
(A) 20% (B)21% (C)22% (D) 23%
(5) Fats are digested: :wz.n(”w? ()
(A) In Large Intestine 2=T% (B) In Small Intestine g,t‘.’..:f’TJr:'
(C) In Stomach (2o (D) In Mouth (2.
(6) Blood groups were discovered by: :& L b S Lys (6)
(A) Land Steiner & #J¢  (B) Thomson Ly”w¢  (C) Morgan LS (D) Fleming Z.fc¥
(7) The major component of human body is: e s (D)
(A) Light s (B) Air 1 (C) Water i (D) None of these %/ utu
(8) The gland which controls involuntary action is: e b S P Jogoun 2 2k (8)
(A) Pituitary Gland :£52# (B)Pancreas % (C)Adrenal Gland ¥4 (D) Thyroid Gland 106
(9) The deficiency of Vitamin A causes the disease of: =q-(3ﬁdxk:o¢-J Setets (9
(A) Rickets o (B) Night-Blindness (%64 (C) Scurvy (of (D) Cancer &
(10) The name of Aids virus is: et L (10)
(A)HB.V 3-8  BYHAV G-ctfr (C)HLV $-d1-8  (DH.OV G-
(11) Polio virus affects the system of the body. - bS8 L umay )
(A) Nervous ¢  (B) Digestive Lelet (C) Blood Circulatory Ly#uls (D) Reproductive 47
(12) The name of Hepatitis ‘A’ virus is: et L (WetFy (12)
(A)HLV §-07-8 B)HAV G-t (COHOV (H-s-§ (D)HB.V (-3-8
(13) Atmosphere consists of layers: :frt'ndz"’ L7 A (13)
(A) Two 2 (B) Three o (C) Four J (D) Five &4
(14) .The average annual population growth rate in Pakistan is: 1e SUIL Shen - SGT L (14)
(A) 2.6% (B)2.7% (©) 2.8% (D) 0.6%
(15) Major cause of depletion of ozone gas layer is: :ia.e:d?.&ﬁlib(a? Sufum (15)

(A)Oxygen =7 (B)Hydrogen ¢?»%,  (C)Chlorofluorocarbons s (D) Hydrocarbon w4

(///] M- 8§ o ny
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TIME ALLOWED: 2.10 Hours SUBJECTIVE .2 2£92.10:25
MAXIMUM MARKS: 60 60,4 F

NOTE: - Write same question number and its part ¢ i s
Qumber on answer book, as given in the question paper. :g_,d;.lefﬂéba/szmﬁ}dlr@%éVd‘ﬂ-u)

SECTION-1 sl

2. Attempt any six parts. 12=2x6 -#2/’.:413&12!4;&)22 /.v’dlr
(i) What is Physics? Write down its any two branches. Lalustnsdfluteysi  ®
(i) Write two contributions of Ibn-ul-Haitham. ekl e Gi)
(iii) What is the difference between Geo-Physics and Astro-Physics? ?‘;J)i_futd Py ;T,,,su"' 2 (i)
(iv) What is meant by Science? et e (V)
(v) What is meant by Geography? P AledSz W
(vi) Write down two uses of Graphite. ~E L s Zew)S )
(vii) What is Carbon Cycle? Sest e Bk (vid)
_(viii) Describe two properties of water. - etor® nfdy (viii)
(ix) Write down two uses of Phosphorus. “Z el inl g (ix)
3. Attempt any six parts. 12=2x6 -Ei iz limge$I 340y
(i) What is meant by Substrate? ted e (@)
(ii) Write down any two functions of blood in human body. -.:_'G db;mJ/ POV f’ U Gi)
(ili) What is Gene? St (i)
(iv) What is meant by Protein Metabolism? el /gf;..rﬂilz_-cﬁ 34 ()
(v) Whatis DNA? telfetfB (W)
(vi) Describe the role of carbohydrates in living organisms. SR KA K S b (VD)
(vii) Define Endocrine System. E SNk (i)
(viii) Write down names of two hormones secreted by pancreas. -s.‘fr‘-' Loy Andtsintloc iy £ (i)
(ix) Whatis the function of iron in blood? ?q_d’.’ VoA sws (ix)
4. Attempt any six parts, 12=2x6 e f ezl g8l Ay
(i)  Write down the names of two diseases caused by virus: LUl e ()
(i) What is meant by nervous break down? Ce st pf it i (i)
(iii) What is the difference between Drug and Medicine? fe-J/Y i mS (i)
(iv) What is meant by Pain Killers? ?4;_;!/91-_})’ o Gv)
(v) Write down the causes of Dengue Fever. .u:'d .::,pzsd' Mdz-i )
(vi) What is meant by Earth’s Atmosphere? St e LR (vi)
(vii) What do you know about Thermosphere? fLE b 1Y AL v P (Vi_i)
(viii) What is meant by Pollution? *-‘q—-)I/Lﬁ:—Lﬁ!’T (vifi)
(ix) Define Recycling. -Ew G (0
SECTION - II £33 >
NOTE: - Attempt any three questions. B3 (51 TAON I8 PN Y SOF)
5. (a) What is meant by technology? Give any example 4 .& A AR SN IR Rl e Gl (-5
of ancient technology.
(b) What is the importance of water in our lives? 4 - /wk[&ﬁ?awgy’bﬁ‘; £i8AddL (&)
Describe in detail. - ' *
6. (a) What is Enzyme? What role is played by 4 gl Sl /Lfffi"uﬂtf i piiSaSest /L)’LF' 51 (LIN-6

Enzymes in our daily life? )
(b) What are antibiotics? Also explain Penicillin oS ol S Ao g ESet Y =A% ()
and Erythromycins. 4

7.(a) What is balanced diet? Describe the o 21 oz S mlUEAF B st A et ()T
balanced diet for infants and old. g4 ‘Ul §ILLurnmugn ¢ el g

(b) What do you know about proteins? 4 S T AL Ty ()
8. (a) Write down different sources of spreading of germs. 4 - L L 212 ()-8
(b) Write a note on round worms. 4 LAy pnkis ()
9. (a) Describe two sources of air pollution and also ~Ehr W nd LEBLS1mhzsn$rsT i (-9
give two suggestions to prevent it. 4 =TT
(b) Discuss the effects of population increase on 4  *° L et b AL LT (L)
environment. T ¥ o
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